

12.19. Remark: For  $a = a^* \in A$  put

$$B := C_1^*(a, 1) := \{ d_0 \cdot 1 + d_1 a + \dots + d_n a^n \mid n \in \mathbb{N}, d_i \in \mathbb{C} \}$$

$$\subset A,$$

this is the  $C_1^*$ -algebra generated by  $a$  (and 1).

$\Rightarrow$   $B$  is commutative, thus

$$\sigma_A(a) \stackrel{12.18}{=} \sigma_B(a) \subset \mathbb{R}$$

i.e. 12.17 is also true for arbitrary  $C_1^*$ -algebra.

Proof of 12.18: Consider <sup>first</sup>  $a = a^* \in B$ , put

$$C_1 := C_1^*(a, 1) \quad \text{commutative } C_1^*\text{-algebra}$$

and  $C_1 \subset B \subset A$

We show:  $\sigma_A(a) = \sigma_{C_1}(a) = \sigma_B(a)$

$$C_1 \subset B \stackrel{12.16}{\Rightarrow} \sigma_B(a) \subset \sigma_{C_1}(a) = \partial \sigma_{C_1}(a) \subset \partial \sigma_B(a) \subset \sigma_B(a)$$

$\uparrow$   
since  $\sigma_{C_1}(a) \subset \mathbb{R}$

$$\left. \begin{aligned} \Rightarrow \sigma_B(a) &= \sigma_{C_1}(a) \\ \text{in the same way: } \sigma_A(a) &= \sigma_{C_1}(a) \end{aligned} \right\} \Rightarrow \sigma_A(a) = \sigma_B(a)$$

Consider now arbitrary  $a \in B$ : (12-24)

it suffices to show:  $a$  invertible in  $A$

$\Rightarrow a$  invertible in  $B$

So let  $a$  be invertible in  $A$ , i.e.

$$\exists b \in A : ab = 1 = ba$$

$$\Rightarrow b^* a^* = 1 = a^* b^* \quad (1^* = 1)$$

$$\Rightarrow (a^* a)(b b^*) = 1 = (b b^*)(a^* a)$$

Thus:  $a^* a$  is invertible in  $A$

$(a^* a)^* = a^* a$  is selfadjoint

$\xRightarrow{\text{above}}$   $a^* a$  is invertible in  $B$  and

$$b b^* = (a^* a)^{-1} \in B$$

$$\Rightarrow b = b(b^* a^*) = \underbrace{(b b^*)}_{\in B} a^* \in B$$

$$\Rightarrow a^{-1} = b \in B$$

□